NOVEMBER 2017 60522/ BYA2C/CYA2A

Time : Three hours . Maximunm : 75 marks
PART A — (10 x 2 = 20 marks) '
Answer any TEN questions:

1. What do youmean by Branch? '

&lener erammig) LD 2 10F) S([HSS WiTg?
2. What is goods-in-transit? - .

CuTsGaursSar 2 drer s76ESET eTamped ereman?
3. ‘What is Departmental Accountmg"

» gﬂ@»gpeurnﬂ SEMEGL ug‘,]aﬁ]u_:a) GTEMTEL areman? ‘ .

4.  Apportion the expense, salary Rs. 6,000 to the Departments A,

B, C, and D in the ratio of cost of goods sold. The Gross Profit

. Ratio is- 20% on sales. The sales are A — Rs. 2,00,000;
B—-Rs. ], 50,000, C Rs. IOOOOOandD Rs450000

a, 9, 9 wpgd 1§ erem gmma@&@ gibLianib 5. 6,000 ‘e

Gl&a)aﬁ]man Alpp sradlen SiLss NHss5Hd ué]rra; Qwrss Qemu

J o ddlgd ~ . efpuemanier 20%, elpumearser g — . 200 000
- 9~ em. 1,50,000, &~ ¢m.1,00,000, 1g~ 5. 450000 :

5. ‘Whatis Cash Prlce?
. Quréss elanéd eTeimmed ereTen?

6.  What is Partial Repossession?.

F‘chal Necouating.

- uGH UNAPSED GTETDTED 6TetTEN?
7. Whatis Pa’rtne‘rshil; Deed?
S l_L_TETENLO SLEUGHTLD GTEINDITE) GTemenr?
8. ° What is gaining ratio?
<251 6D TaTDIed crenmen?
9. Maadhu and Sethu are sharing profits and losses in the ratio of

7:3. They admit Raadhu for 3/7 share in new firm which he takes
2/7 from Maadhu and 1/7 from Sethu. Find out New ratio.

g pmib Cegl @eru Bl ktismar 7:3 arann aflflssHd udidpmi.
Qauisd g yHu Boeasde 3/7 undpe Coissear. Gos
. Djeui wrgleltimbg 2/7 HBID G&g,j@ﬁ]l_uﬂ@pgu 1/7 eren ar(D&SI6
Qarerdlpmit. yHu eAHSD sraws. :
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10. K, M and S are partners sharing profits in the ratio of 4:3:2.
] K retires, M and S shares profits in future in the ratio of 5:3.
Determine the gaining ratio.
Gs, eTid LHmID erev HACWTT Gerurismer 4:3:2 élgssld LS(®HL
gl Lreflsar. ‘Cs eflevs 6rib DI 6Tev @eTLIBISMET aU(HLD STagED
5:3 eNflssHd LflTeurr. T NG Sroraflés. ‘
11. What is Realisation Account?
&6 & HERTE(S) GTEMDITE) GTEEs ?
12. What is Deficiency Account?
UDDTEGDD SHEUTEHE, TESTDITE) GTEra ?
PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.
13. GL Ltd. opened a branch on 1.1.2014. The following information
. are supplied to you. Prepare Branch Account.
Rs.- Rs.
Goods sent to Branch 50,000 Sales: Cash 20,000
Cash received from debtors 32,000 Credit 36,000

Discount allowed to them

600 Stock on 31.12.14 8,000

Cash sent to branch for expenses 7,000 Debtors on 31.12.14 3,400

of.crev. el 1.1.2014 ianm @ Sever Hppsg. Wemaumbd Saeicad
SRSERES STUILLQdrarg). flenets seréE@ SLTMES.

- : -
Hevens @ sienu sr&E 50,000 efipuenen : Qrrésd 20,000
sLamallsafl_Bimbg QuHDn Qprésd 32,000 sLe’ 36,000
SITEEH6E Aafgs SeTEnLig © 600 31.12.14 & Fp&dmiy 8,000

QewesEnse Aoasd a@iniw Qyrésn 7,000 31.12.14 & sLamelisar 3,400

14.

Goods are transferred from Department A to Department B at
gselling price. Usually stocks of Department B consist of 75% of
goods received from Department A and balance 25% other
expenses. From the following particulars, compute the profit
included in the stocks of Department B :

Gross Profit Ratio of Department, A : 20% on sales
Opening stock of Department B : Rs. 40,000
Closing Stock of Department B : Rs. 90,000

2 60522/BYA2C/CYA2A

24.

They agreed to admit chottu into partnership giving him a fifth
share on the following terms :

(a) The land and buildings to be increased by Rs. 3,000
(b) The value of plant to be increased by Rs. 2,000

(¢) Goodwill to be valued at Rs. 4,000 which is to be raised and
~written off. .

(d) * Chottu to bring in capital to the extend of 1/5 of the total
capital of the new firm after adjustments.

Prepare necessary ledger account and new Balance sheet of
the firm.

Qoru plimsmer 32 flgsdedr udpd T55 wHmbd - Bis
% HCwnfler @mLiy Hlenewsd @GHiLiy NereumLomm.

QurmtiyseT - . ) QanggibaeT as.
WS FHEMEGSET o &L LBis@sn 7,006 i
fis 16,000 Qun 9,000
$58 © 7,000 sLamafser 4,400
sLefpGamt 5000 mfss: ggie 400 4000
NSO E 7,000
Quésmid ' . 1.000
T 00

Gemeumd srsgissaiiany ppded qenm eam LkdhE Carl_(Heaeu
sl t_namenwuler Carés @UiLsQamereniul L g).

(1) Reoap sLLLapb 5. 3,000 e wWrssLILL LS.

() Qumhluden wHii ep. 2,000 2 wWASSILILL ).

(@) BOGuwir . 4,000 eren WAL LLLEH 2 wWISFLULE 1Ner
Curs@swsiulLg).

() efls_GsosE@mée Gar fpauasdar Guorss sdied 1/5
uridlener Gaml_ @ ser psors Qsrer® auy Couam@b. .

Caemeuwnan GUCHL(H sams@s@sbd HneuasdHear yHu @iy
Blanews @dliyb swnflss.

Explain the methods of piece meal distribution.

2 L @i&GLen udligedlen panmaenaT allarse@s.
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22.

23.

Mr. Somu sold out goods on hire-purchase at a profit (including
hire purchase charges) of 25% on cash price. Prepare the
necessary accounts under stock and debtors method from the
following details.

Shop stock on 1.1.14 Rs. 1,50,000 and on 31.12.14 Rs. 1,25,000

Over due instalments on 1.1.14 Rs. 10,000 and on 31.12.14
Rs. 15,000

Goods with customers on hire purchase on 1.1.14 Rs. 1,80,000
Purchases — Rs. 2,50,000 and Instalments received Rs. 3,00,000

Goods sent out in the year 2014 is Rs. 4;35,000.

Hm. Camp &ué;@a;emrf Qurés elewer Bg 25% &g QerusdHis I

(urLensé  Qemearapsd st Lamas@sd  Caisg)  aumLmss
Gamatapgelier epdpmit. Wemaumd eflughser Qanan® s76@ WLHHID
asL_asrrraﬂa;aT penuler £ Csmauwimen sas@smar swuilés.

gL srsdimuy 1.1.14 6 em: 1,50,000 whmyb 31.12.14 & em. 1,25,000
Baiemeus seaianant 1.1.14 é ¢p. 10,000 wpmid 31.12.14 é am. 15,000

1114 & eum_enas Qa;rrm(y)g,ev penpulled G)JrTLq.GSGDBSUJITGTTIﬂLLD 2_eiver
&16@ . 1,80,000

Qamerapse — 5. 2,50,000 wpmitd Aupp seusmenraeT ¢p. 3,00,000.
2014 b yeiTiged i@l s7&E ep. 4,35,000.

The following is the Balance sheet of Reethu and Neethu who
share profits and losses 3:2 respectively.

" Liabilities Rs. Assets Rs.
Capital Accounts Land and Buildings 7,000
Reethu 16,000 Plant 9,000
Neethu 7,000 Debtors 4,400
Creditors 5,000 Less: Provision 400 4,000
Stock 7,000
Cash h 1,000
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15.

16.

17.

gop g Admhs seop 9 &6 sThEsd edpuman eflameoudle
é{@muwnﬁmg. Qurgieder gowp G- sr&Gsatls 75% g
g afeSlmhgl QUPLULL BT L850 25% wpw’ LEaisenTaeb
@mEED. Gareumb elurhisd Qarar® gion 9 wer Fr&8 G
Gaipgiemer GamULD GeuméidlLab. |

g g ~ a1 Qwrss @aoru s : efpumenien 20%
gleom 19 — e AgrLsss sradlmuy : 5. 40,000
gy 19 - en @ sraHmoy : a. 90,000

A television set, cash price of which is Rs. 18,000, is sold on hire
purchase system for Rs. 20,000 payable in 4 quarterly
instalments of Rs. 5,000 each. Show how interest is calculatgd.

@ Asrerasst  Quiiguier Arrés elee . 18,000. Q& aur_amas
Qsrarapsd pepude @m. 20,000@ 4 sTOTETH SEUMETLINE ST
. 5000  Cegisgesns SAHsLILIT L ). eully  ereueumm
seasSL_LILHE DS eTaumS ST (H5. ‘ ‘

R and S share profits in the ratio of 5:3. T joins the firm for
3/8 share of profits and brings Rs. 6,000 for goodwill. Show the
distribution of goodwill. '

‘@ HpIb ‘aey’ Gerukisamar 5:3 clfssHo Ldieul. 3/8 LkADE
‘& eaamuei Hpeuagdad Caibg @. 6,000 pHE@LLmESsTs G

- eubsTi. pHOUWT LfiTmeud sT.(Hs.

Prepare Deficiency account from the following information.

Rs. ’ Rs.

Currenf Assets 40,000 Provision for depreciation 20,000

Furniture 50,000 Sundry creditors 4,20,000

Fixed Assets .- 4,55,000 Bills payable _ 20,000

Assets reahsed 2, 50 000 Profit sharing Ratio A:B:C = 2:2:1

Capitals : A — Rs. 60,000, B - Rs. 40,000 and C — Rs. 15,000 (Dr.)
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Gemeupd eALipd Qaman® UPDTEGMDE SarTéE swithés.

: (- ~ €.
BLULE Qenggisser 40,000 Gsliioner @gi5E 20,000
SIODEQET 50,000 upue® sLaiBCHMT 4,20,000

flows dsrsgisadar  4,55,000 Qesaisgsisn@iu wrpnsdl G 20,000
Qenggiéaer Simal  2,50,000 Geru Lfiey eAsD 6:9:8 2:2:1

epgdsa: 7 — (. 60,000, 19 ~ . 40,000 wHpD & — 5. 15,000 (Lipm)

18. Give the rules laid down in the Garner Vs Murray Case.
sriranit r&f WGy aupsdar 1piq.6y samib edasmars s(ms. '

19. Disti‘ngujsh between Branches and Departments.

BlapmaeT HMILD Heneradt YyHweupamn CounguBéss.
PART C — (8 x 10 = 30 marks)
Answer any THREE queétions.

20. A Madurai head office has a branch at Erode to which goods aré
invoiced at cost plus 20%. From the following particulars,
prepare Branch Account.

. 1 Rs.
Goods sent to Branch 2,11,872 Total sales 2,06,400
Cgsh received from debtors 88,000 C_ash sales 1,10,400
Branch Debtors on 1.1.14 . 24,000 Branch stock on |
Branch stock on 1.1.14 7,680

31.12.14 13,440

R LI OIS FGIT g6 2 6TeT FaiT Henend@ i &ss3IL_en

AN

Qare() Senerd semd@ swmflés.

€.
Senerd@ S sré&e, 211,872
sLameflsaflO@mbg Qubm Qu_rré;a;fo‘ 88,000
1.1.14 & Henens sLanmell g6 24,000
1.1.14 & Slenens sysdmLiy © 7,680
4

gLen 20% smligu sp&GEmar A@LEpg). Wemeumd eNuphismens;

€.
Qurgs efpueen  2,06,400
Qurés Nhuewen  1,+0,400
31.12.14 & Sleneré
Fy&HmLL 13,440
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21.

The following details are given by Babu, a merchant for the year
ended 31.12.2014.
Rs. Rs.
Stock 1.1.14 — Dept. I 3,400 Debtors y 23,000
Dept. II 1,100 Office furniture 1,080
Sales — Dept. I 70,000 Rent 1,800
' Dept. II 30,000 Insurance 2,400
Purchases — Dept.I 43,000 Salary 5,400
Dept. II 25,000 Commissionpaid 2,200
Advertisement . - 5,800 Stationary 2,700
Bank charges 120 Wages 16,000
Provide depreciation at 10% on furniture. Bad debts Rs: 300
create 10% provision for discount on debtors. Stock on 31.12.14 —
Dept. I —Rs. 4,000 and Dept. II — Rs. 1,680. .
Prepare .d_epart_mental Trading, profit and loss account.
Apportion all the expenses in sales ratio.
ury erendlp eSwmumdl, 31.12.2014 @ PG EUMLU|D HETIgHETET
eflupmigeneT 66l (HLOTL) SHSADTIT.
- -
1114 o spedmuy—geop I 3,400 sLameflser 23,000
giop II 1,100 <igieuers smpseer - 1,080
-pLiener —geop I 70,000 em_es 1,800
gieop 11 30,000 &muSEH : 2,400
Qsratpga —glop I 43,000 sbuerd 5,400
| giop II 25000 Gsgsdu sihay 2,200
ofembiiid . 5,800  erapgQUITHL ST 2,700
QURISlé sL_L_anrhiger 120 smellsar 10,000

Ampswear  Bg  Czwwrend 10% - @gEEs.  aumyrEsLen
. 300. sLemaflgar S5 eulLsHne 10% @as@s. 31.12.146
sy&HmUY geop I —ep. 4,000 wpmibd gewm II - 5. 1,680.

gompeur aflwrumy Qeoru pLLE saméE sunflés. oimandg
Qevays@sd ellpLeamer elfgsde LflTs.
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